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B. Sc./B. Ed. (Integrated) Second Year Examination, 2019
MATHEMATICS - III
(Differential Equations)

Time: Three Hours
Maximum Marks: 55

Instructions —
Attempt five questions in all, selecting at least one question from each
unit. The answer of essay type questions should not be more than 400
words and short answer type of questions in not more than 150 words.
All questions carry equal marks.
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UNIT -1/ 518 — 1
Q.1 (a) Solve - [6]
gl PITY —
sinx% + 3y = cosx
(b) Solve — [6]
gl BIFTY —

x*(y — px) = yp?
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OR / 3dar
Solve - [12]
&l BIFTY —
(D? — 2D + 1)y = x e¥ sinx
UNIT - 11/ @18 — 11

Q.2 (a) Solve- (6]
&l BINTY —
x_dy__ d
X y  z-a/x2+y?+z?
(b) Solve - (6]
&l BIRTY —
(y? +yz)dx + (xz + z?)dy + (y* —xy)dz =0
OR/ 3ar
Solve the following by method of variation of parameters : [12]
graet facRer fafyr g1 gt IR
2
rrob

UNIT -1/ go1s — III

Q.3 (a) Solve in series - [6]
AN &l I BT —
X2y +xy + (x> —a?)y=0
(b) Prove that - [6]
e Ifsg —
Qn+1 = Quor = @n+1)Q,
OR/ 3ar
Find the series solution of the following linear differential equation : [12]

fr= IRIP g THIBRT BT AN BT ST BIOTT —

4xy +2y +y=0
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UNIT -1V / s&18 =1V

Q4 (a) Solve -
& BIVTY —
z(xp-yq) =y’ —x
(b) Find singular solution of following :

/1 @1 fafem g 3ha dIvig —

z=px+qy+cm
OR / 3AYar
Solve -
gl BT —
pxy + pq + qy = yz

UNIT-V/ 538 —V

Q.5 (a) Solve -

&l BITY —
(D?-2DD’' + D) z=¢&**%
(b) Solve -
gl PITY —
(D?>+ DD’ +D’' — 1) z = sin (x + 2y)
OR/ 3dr
Solve —
&l DINTY —

2s + (rt-s?) =1
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